

SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35



UNIT 1 PARTIAL DIFFERENTIAL EQUATIONS

Formation of PDE

Definition :-A positial differential equation is an equation, involving a function of 2 or more variable and sum of Its postial dorivatives. Notations 1- $P = \frac{\partial Z}{\partial x}, \quad q = \frac{\partial Z}{\partial y}, \quad r = \frac{\partial^2 Z}{\partial x^2}, \quad s = \frac{\partial^2 Z}{\partial x \partial y}, \quad t = \frac{\partial^2 Z}{\partial y^2}$ (d-4)+(a-r) =1 Formation of Partial differential Equations: 1) Eliminating Azbitrary constants in Elininating Astritary function-Elininating Arbitrary constant! Type 1: Number of Azbitiony constant & Number of Independent vostable, then we get the 1st order partial differential equation. 1. Form the fole by eliminating Arbitrary constant form z= ant by + a + abt b2. Diff publit xolin à prite [.A.C. IV mon 2 2 $\frac{\partial^2}{\partial x} = a$ NO OF A.C = 2 P=a NO 9 IV= 2

SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35

UNIT 1 PARTIAL DIFFERENTIAL EQUATIONS

Formation of PDE

Diff Pwort y.
$\frac{\partial z}{\partial y} = b \Rightarrow \boxed{q=b}$
$Z = ax + by + a^2 + ab + b^2$
$= P^{x} + qy + p^{2} + pq + q^{2}$
2. Form the P.d.e by E.A.C. from
$Z = (x - a)^2 + (y - b)^2 + 1$
Pyp Pwato x.
$\frac{\partial z}{\partial x} = 2(x - \alpha)(x)$
$P = d(x-a) \Rightarrow \frac{P}{2} = (x-a)$
Dyp Pwat y'
$\frac{\partial^2}{\partial y} = \partial(y - b)(1)$
$\boxed{\frac{9}{3} = y - b}$
$z = \left(\frac{P}{2}\right)^2 + \left(\frac{Q}{2}\right)^2 + 1.$
Form the P.d.e by eliminating Arbitrary Constant from
log(az-i) = x + ay + b
Dyp Pwato x,
$\frac{1}{(\alpha z - 1)} \stackrel{\textcircled{3}}{\Rightarrow} (\alpha z - 1) = 1$



SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35



3|3

UNIT 1 PARTIAL DIFFERENTIAL EQUATIONS

Formation of PDE

$$\frac{1}{az_{-1}} = \frac{a}{bz} = 1$$

$$\frac{ap}{az_{-1}} = 1 \longrightarrow 0.$$
Differ from (9),
$$\frac{1}{(az_{-1})} = \frac{a}{by} = a$$

$$\frac{1}{(az_{-1})} = \frac{a}{by} = a$$

$$\frac{a}{az_{-1}} = a$$

$$\frac{a}{az_{-1}} = a$$

$$\frac{a}{az_{-1}} = a$$

$$\frac{a}{az_{-1}} = 1 \longrightarrow 0.$$
Equating (0, R).
$$\frac{ap}{az_{-1}} = \frac{q}{az_{-1}} \implies a = \frac{p}{p} \longrightarrow 0.$$

$$q = az_{-1}$$

$$q + 1 = az$$

$$a = \frac{q}{2z_{-1}} = \frac{q}{p}$$

$$a = \frac{q}{(ax_{-1})^{2}} (px_{-1}) + \frac{q}{(ax_{-1})^{2}} + \frac{q}{(a$$

23MAT201- PARTIAL DIFFERENTIAL EQUATIONS & TRANSFORMS DEPT OF MATHEMATICS